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Points 1o Ponder

1373992 DX 27 YW NI

N3P 07 NIA2”

The RNA says that a N1VP is NP NI'NI N'AP, while a NWAN is NYMWNI N'1P. Why
can't it be that both are NA™wnNI N'NP?

If we understand the a N10P is N'12P NI'RI N'1P, because she may be |[KNN how can
one NIVP'S DI help for her NNY, maybe one would have been |XNN and not the
other? (See DN12N NDMD).

On the N1WN of NWANI N1VP Rashi is DA that even when he was N1VPN Y X2 and
than in the NWN he is 9019 the N1OP. This is despite the fact that a N1LVP is NP
N'12P NI'RI so TWO1 NNN the NMIVP should be fine, because we have a N1'1a in case he
does NN with the NwAN first. According to this reasoning why don’t we have the
same concern by a NNPo and a nwIN?

The NIWN on 2"V says that according to 1TVIN " we teach the N10P how to do |IN'D.
Is 2TYIN M referring to all the previous cases, for example a N1OPI NWNN as well as a
N10PI NOITA?

The NIWN writes that if the D2' is NTIN that he didn't live with the NN2! even if it's after
12 months, we force him to do a NX'"2N. What's the 19'9N? If he is NTIN that he hasn't
done DI2! he still has the original obligation to do Nx"N?

If you have any comments or suggestions please email me at
Ygrunhaus@gmail.com
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